Here are some notes on the “direct method” and the
“acceptance/rejection” method for generating random
numbers x according to a pdf f(x)dx starting from a
uniform random number generator between 0 and 1.

For the direct method the recipe is:

e (Calculate the cumulative distribution
X
P = | fahax

* Set R = F(x)

* Solve for x(R)

* Generate a bunch of uniform random numbers R
* For each R calculate x(R)

* You now have a bunch of x’s which follow a pdf

f(x)dx

Full disclosure: these are not by notes (except for the 1st
page). They were given to me when [ was a graduate
student, and [ have somehow kept them all this time.
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